1. Résolution technique

E Résoudre les inéquations (en s'aidant, s'il y a lieu
d'un tableau de signes).

a)Bx+52=1:0)2kx-1)>x%-2;

=

d) 2x3+ 7

e) 1 = 3; )5x-2x+1) <3x+ 1.

x-3 . x-9 .
dyox <2 7

23 Méme exercice.

a)x(x + 1) >x2+3;0)-2x24+3x<0;

c)%s4x; d)3—x$ >x; /M

2
e) X >3 41; 93x-1<xlx+3).

2 ‘. Méme exercice.

x-3 7x-6 . 3-x ;
_ > < 1;
a) 3 6 9; b) X+5

2x+1 3 : ~ x2 .
c) 2~ x 4-2x?1' d-x¢+3>0;

e)dx- 12 > x2 +1;

ﬂ%—6(3—§)>1+2x.

* Méme exercice.

a)(x - 3)(1 - 2x) < (x - 3)%;
b)(5x - 1)(-x - 5) = 25x%2 - 1;

) 2x(x - 7) < x2 - 49;
d-3x2+5x+1=03Bx-10-x).

%% Méme exercice.
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) =1; b4d4s< —;
(x +2)2 x2
x+12 _ . | LI
C) 2x /0, d] X2+1 = 2,
e)5x < -M.
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